BOARI) OF SECONDARY EDUCATION KARACHI

MODEL QUESTION PAPER
$.5.C. (ANNUAL) EXAMINATIONS 2022

MATHEMATICS (CLASS 1X) PAPER |

(SCIENCE GROUP)
Time: 3 Hours Marks: 75

SECTION ‘A’ (40%)
MULTIPLE CHOICE QUESTIONS (M.C.Qs) (30 Marks)

Q.1 THIRTY (30) MCQs WILL BE GIVEN FROM THE WHOLE BOOK.

Each question carries 1 mark.

SECTION “B” (40%)
(SHORT ANSWER QUESTIONS) (30 Marks)

NOTE: Attempt any (06) questions from given 10 Questions of this section.

All questions carry equal marks

5 - A\ NG __
Q2. IfZi1=-4+6iand Z; = = 2i,then verify 71+ Z=21+ 2

Q3. Find the value by using logarithms

25.753
0.5341

Q4. Find the value of ab when a®*-b*=5and a-b =5
Q5. Find the factors by using Factor Theorem.
x3-6x2+11x-6
Q6. For what value of “m”, 9x*+12x3+34x2+mx+25 will be the perfect square?

Q7. Find the solution set of the equation

|5x — 3| —
4

Q8. Solve by using Quadratic Formula.
2x2-5x-3=0
Q9. The opposite sides of a parallelogram are congruent. Prove it.
OR

Construct a AABC, in which m4£ A =65°, m£ B =40° and mBC =5.8cm

PREPARED BY RESEARCH SECTI ON DATED: 13- 04- 2022 (Page 17 of 30)



Q10. Any point on the right bisector of a line segment is equidistance from its end

points. Prove it.
Q11. The sum of the lengths of any two sides of a triangle is greater than the length

of the third side. Prove it

SECTION ‘C’ (20%)
(DESCRIPTIVE-ANSWER QUESTIONS) (MARKS: 15)

NOTE:

Attempt any Two (02) questions from this section. All questions carry equal marks.

Q12. Factorize the following. (any three)

i. 4x4+625 iv. 4x2-y2-2y-1

. 1,1

ii.  (2x+2)? - (2x-z)? v.—+ -yt +yt +y°
ii.  y?+7y-98

Q13. Find the solution set of the following equations graphically. (Find three ordered
pairs for each equation)

3x-11=y x-3y =9

Q14. In any correspondence of two triangles, if one side and any two angles of one
triangle are congruent to.the corresponding side and angles of the other, the two
triangles are congruent. Prove'it.

OR

Use distance formula to show that the points L(0,/3), M(-1, 0) and N(1, 0). Form an
equilateral triangle.
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